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QUESTION 1

You are asked to delete an SVM that was used for CIFS. 

Which two steps must be completed prior to completing this task? (Choose two.) 

A. Delete all LIFs from all SVMs. 

B. Stop the SVM. 

C. Delete all data volumes in the SVM. 

D. Delete the CIFS license. 

Correct Answer: BC 

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.onc-sm-help-900%
2FGUID-1286A6CD-2981-444F-97F6-65D65A00D758.html 

 

QUESTION 2

Click the Exhibit button. 

Latest NS0-161 Dumps | NS0-161 VCE Dumps | NS0-161 Braindumps                                2 / 6

https://www.pass4itsure.com/ns0-161.html
https://www.pass4itsure.com/ns0-161.html
https://www.pass4itsure.com/ns0-161.html


https://www.pass4itsure.com/ns0-161.html
2024 Latest pass4itsure NS0-161 PDF and VCE dumps Download

The exhibit shows a Windows 2019 server with two FC HBAs using ALUA. How many paths to LUN1 are
active/optimized? (Choose the best answer.) 

A. 8 

B. 2 

C. 1 

D. 4 

Correct Answer: C 

 

QUESTION 3

Click the Exhibit button. 
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You want to add shelves to an AFF A300 HA pair that currently has six DS224C shelves already connected. You are
using the onboard SAS port only, and you want to keep the multipath high availability (MPHA) configuration. 

Referring to the exhibit, what is the maximum number of additional shelves allowed to be added in this configuration?
(Choose the best answer.) 

A. 2 

B. 10 

C. 6 

D. 4 

Correct Answer: A 

 

QUESTION 4

Click the Exhibit button. 
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Referring to the exhibit, what are two reasons why no initiators are displayed in the initiators\\' igroup screen? (Choose
two.) 

A. Zoning on the switches has been done incorrectly. 

B. The server has not been powered up. 

C. ALUA has not been enabled on the NetApp controllers. 

D. SLM has not been enabled. 

Correct Answer: AB 

 

QUESTION 5

Click the Exhibit button. 
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You have a mission-critical SQL application that uses a single SMB 3.1.1 share to host its database. The storage node
that is hosting the SMB share sql01_ca for the SQL database experiences a hardware failure and fails over to the
surviving node. 

Referring to the exhibit, what is the state of the SMB share for the SQL database during the failover? (Choose the best
answer.) 

A. The SMB share will be available, but all data is corrupted. 

B. The SMB share will be unavailable until node failback. 

C. The SMB share will be available, and all data is accessible. 

D. The SMB share is unavailable due to its stateful nature. 

Correct Answer: A 
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